[ Efficiency vs vertpos |

- 0.1
20.09
2
20.08
(&)
50.07
O
£0.06
0.05
0.04
0.03
0.02

0.0

Ratio

Efficiend

N 0.2
$0.18
[d
>0.16
>
<
50.14

o
£0.12
(]

0.1

0.08
0.06)
0.04
0.02

10f :
Laf :
W - - . TR B ETRTTRRE
H 5 + |
0.9 LA J
1072 107 1 10 0?
TP vertr (cm
o DOM-TT—moy models4_trut fipal mode| TEST-15
—— DOM~TT—mod”mode|s4_trut ?Ihts mo eJ %T-lz
—— DOM~TT—mod~mode|s4_trut| |Pa rerg mode] IEST»12
—— D mod_models4_truthallhits_reg_modelTEST-11

.............

............

............

......................
.....................

................

gkl

...........

...........

...........

A | IR PR &
SRR 411 o 1
-20 0

20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.2
>
8018
£
50.16
20.14
oy
20.12
0.1
0.08
0.06
0.04

0.02

e

effic

..................................

..................................

................................

||_|_|_|_|_t|_|_|_|_|||||||||||||||||||||||||

Ratio

J--G:' b b 4

H HEmadBE T :
l-lg' T14HT: TI1UITYT

j1= 8 S N : 1 .
o of - - HEFH BHELHEF -5
0.8 H H H H H
=1 -5 0 5 10 15

éim.

20
PV z (cm)




	Contents
	Page 1


